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Answer Key & Worked Solutions 

St Nicholas Paper 

P6 Mathematics SA1 2018 
Paper 1 

Q1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 

1 2 2 3 3 2 3 2 4 3 

Q11 Q12 Q13 Q14 Q15 

3 4 2 3 3 

Q16) 10e + 6 
Q17) 

35
36

Q18) 0.43 Q19) 128 cm Q20) $2.80 

Q21) 
a) Jan
b) Feb & Mar

Q22) 2.2kg Q23) $6.20 Q24) 
a) North-east
b)

Q25) Christy 

Q26) 
5
8

Q27) 504 
gold and 
black buttons 

Q28) 
a) increase
b) 120 players

Q29) 383 Q30) 8 cm2 

Paper 2 
Q1. $16 x 4 = $64 

$64 ÷ 2 = $32 

Q2. 352.50 + 25 = 377.50 
377.50 ÷ 5 = 75.50 
75.50 – 25 = $50.50 

Q3. 4 ÷ 2 = 2 
Milo : Coffee : Tea  5 : 4 : 2 

Q4. 2600g – 200g = 2400g 
2400g ÷ 4 = 600g 
2400g – 600g = 1800g 

Q5. (a) 
1
4
  x 3.14 x 56 = 43.96 

43.96 x 2 = 87.92 
87.92 + 28 + 28 = 143.92 cm 
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Worked Solutions 
Show your working clearly in the space provided for each question and write your 
answers in the spaces provided. 

6. a)

Cost of 5 curry puffs = 4 x 1.50 = $6

Cost of 2 more curry puffs = 2 x 1.50 = $3

Cost of 7 curry puffs = 6 + 3 = $9

b)

Cost of 1 set of 5 curry puffs = $6

Number of sets of 5 curry puffs, $50 can buy = 50 ÷ 6 = 8 remainder $2

Number of curry puff $2 can buy = 1

Greatest number of curry puffs for $50 = 8 x 5 + 1 = 41

Ans:  (a)  $9 
(b) 41

7. Let number of highlighters = 20u (multiple of 4, 5) 

Number of red highlighters = 
2
5
 x 20u = 8u 

Number of red highlighters left = 
1
4

 x 8u = 2u 

Total number of highlighters left = 
1
2
  x 20u = 10u 

Number of yellow highlighters left = 10u – 2u = 8u = 104 

u = 104 ÷ 8 = 13

Number of red highlighters sold = 8u – 2u = 6u = 6 x 13 = 78 

Ans:  78 red highlighters 
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8. Cost of 1 durian and 6 pears = $20.40

Cost of 1 durian and 15 pears = $31.20

Cost of (15 – 6 pears) = 31.20 – 20.40 = $10.80

Cost of 1 pear = 10.80 ÷ 9 = $1.20

Cost of 1 durian = 20.40 – 6 x 1.20 = $13.20

Cost of 6 durians = 13.20 x 6 = $79.20

Ans:  $79.20 

9. a)

Number of cubes  1, 5, 14, 30

Difference between cubes of Figure 4 and Figure 3 = 30 – 14 = 16

b)

Number of cubes  1, 5, 14, 30, 55, 91, 140, 204, 285

Difference between cubes of Figure 9 and Figure 7 = 285 – 140 = 145

Ans:   (a)  16 

(b) 145
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10. a) 3.4 cm 

b)

Ans:  (a)  3.4 cm 
(b) as shown

11. 
7
7

 of Wooden piece A = 42 cm 

1
7

 of Wooden piece A = 42 ÷ 7 = 6cm 

5
7
 of Wooden piece A = 5 x 6 = 30 cm 

3
5

 of Wooden piece B = 30 cm 

1
5

 of Wooden piece B = 30 ÷ 3 = 10 cm 

5
5

 of Wooden piece B = 5 x 10 = 50 cm 

Ans:   50 cm 
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12. a)

Number of cookies each child receive = 24n ÷ 3 = 8n

Number of cookies Amelie gave to Dawei = 8n – 3

Number of cookies Brian gave to Dawei = 5n

Number of cookies Dawei received from siblings = 8n – 3 + 5n = 13n – 3

b)

Number of cookies Dawei left in the end = 8n + 13n – 3 – 3n = 18n – 3 =

18 x 4 – 3 = 69

Ans:   (a)  13n – 3 
(b) 69

13. a)
65% of coffee maker = $227.50
1% of coffee maker = 227.50 ÷ 65 = $3.50
100% of coffee maker = 3.5 x 100 = $350
b)
Discount for coffee maker = 350 – 227.50 = $122.50
Discount for oven = 152.50 – 122.50 = $30
Undiscounded price of oven = 120 + 30
Percent discount of oven = 30 ÷ 150 x 100 = 20%

Ans:   (a)  $350 

(b) 20%
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14. a)

∠LMN = 180 – 112 = 68 °

∠LMQ = 68 + 58 = 126 °

∠LQM = (180 – 126) ÷ 2 = 27 °

b)

∠MPQ = 180 – 58 – 27 = 95 °

Ans:  (a) 27 ° 

(b) 95 °

15. a)

Number of beads for 5 necklaces = Number of beads for 7 bracelests

Number of beads for 10 necklaces = Number of beads for 7 x 2 bracelets

Number of bracelets made with beads of 10 necklaces = 14

b)

18 bracelets + 10 necklaces = 480 beads

18 bracelets + 14 bracelets = 480 beads

32 bracelets = 480 beads

1 bracelet = 480 ÷ 32 = 15 beads

1 necklace = 
7
5
 x 15 = 21 beads 

20 bracelets + 36 necklaces = 20 x 15 + 36 x 21 = 1056 

Additional beads = 1056 – 480 = 576 

Ans:  (a) 14 bracelets 

(b) 576 beads
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16. Area of 4 quadrants =
22
7

 x 7 x 7 = 154 cm2 

Area of rectangle = 98 + 154 = 252 cm2 

Breadth = 14 

Length = 252 ÷ 14 = 18 cm 

BC = 18 – 7 – 7 = 4 cm 

Ans:   4 cm 

17. Let amount of money Kathleen had at first = 15u (multiple of 3, 5) 

Amount spent on watch = 
1
5
 x 15u = 3u 

Amount spent on handbag = 
2
3

 x 15u = 10u 

Amount at the end = 15u – 3u – 10u + 171 = 2u + 171 

Amount at the end also = 
7
5
 x 15u = 21u 

2u + 171 = 21u 

19u = 171 

u = 171 ÷ 19 = 9

Amount at first = 15u = 15 x 9 = $135 

Ans:  $135 




